Whitman College

Econ 328

Exam 3

April 25, 2006

Write all answers in your blue book.  Show all of your work.  The exam ends at 9:55.

1.  Consider a contractual setting in which the technology of the relationship is given by the following partnership game.  Suppose that the players contract in a setting of court-imposed breach remedies.  The players can write a formal contract specifying the strategy profile they each intend to play.  The court observes their behavior in the underlying game and, if one or both of them cheats, imposes a breach transfer.  Assume that in the event of a breach, the court could verify which player breached, but the court would not know what each player’s payoff would have been under the (I, I) outcome.  The players wish to support the outcome (I, I).  

	
	
	Player 2
	

	
	
	I
	N

	Player 1
	I
	7, 7
	1, 5

	
	N
	9, 2
	3, 3


(a)  (4pts)  Define expectations damages.   Explain why the court cannot impose expectations damages in this case.

(b)  (2pts)  Define reliance damages.  

(c)  (2pts)  Define restitution damages.  

(d)  (12pts)  Would these players be better off with a court system that imposes reliance damages or restitution damages?  Explain your answer, and show your work.

2.  (15pts)  Consider a location game like that discussed in class, between two soda vendors who each choose where to locate along a beach composed of nine liner segments filled with equal numbers of potential customers.  Customers buy from the vendor closest to them.  Consider the version of this game in which the vendors’ wages do not depend on how many sodas they sell.  Because the process of selling sodas requires effort, they’d rather sell as few cans as possible.  Suppose that this game is played sequentially, so that Vendor 1 locates first, and then Vendor 2 locates, knowing where Vendor 1 has located.  Find the subgame perfect Nash equilibrium of this game.

3.  Consider the following set of payoff vectors, V, defining two player’s alternatives for a given bargaining problem.  V= {(12, 9), (3, 4), (0, 1)}.  Here, the default payoff vector is (0, 1).  Suppose that player 1 has a bargaining weight of 1 = 0.4.  Assume transferable utility.  

(a)  (10pts)  What transfer, t, from Player 2 to Player 1 achieves the standard bargaining solution outcome?

(b)  (10pts)  Now consider the following two options.

Option A:  Player 1’s default payoff rises by ten, with all else unchanged.  

Option B:  The maximum joint value rises by ten, with all else unchanged.

Calculate Player 1’s standard bargaining solution payoff under Option A.

Calculate Player 1’s standard bargaining solution payoff under Option B.

Which option does Player 1 prefer, and is that option Pareto efficient?

4.  (15pts)  Consider the following sequential-move, one-shot von Stackelberg duopoly quantity-setting game.  Firms 1 and 2 sell a homogeneous product at a price set by the market according to the following market demand function: P = 40 - 2(Q1 + Q2), where Q1 is Firm 1’s output, and Q2 is Firm 2’s output.  Both firms have marginal costs of 4, and no fixed costs.  Firm 1 will contract with its suppliers and commit to producing its output before Firm 2 can choose its level of output.  What is the subgame perfect Nash equilibrium (SPE) of this game? 

5. Consider a two-player alternating-offer ultimatum game like that discussed in class.  

(a)  (10pts)  Suppose that the game ends after the third round.  If neither player is impatient, what is the subgame perfect equilibrium (SPE)?  What are the player’s payoffs in this equilibrium?

(b)  (10pts)  Suppose again that the game ends after the third round.  However, assume that both players are impatient.  Player 1 has a discount factor of 0.9 and Player 2 has a discount factor of 0.7  What is the SPE?  What are the player’s payoffs in this equilibrium?

(c)  (10pts)  Assume again the discount rates from part (b).  If this game continued indefinitely, what would be the SPE?  What are the player’s payoffs in this equilibrium?
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